
ID. DESCRIPCIÓN DESCRIPTION QTY. REF.:

1 Bandeja de aluminio Aluminum tray 1 3844N

2 Tornillo  M6x15 DIN 1001 M6x15 DIN 1001 screw 4 M2TM06015D1001N

3 Tuerca M6 DIN 6923 M6 DIN 6923 nut 4 TUERCAEM6G-0213

CENTRO / CENTER

270 mm 110 mm

Ø7mm Ø7mm

1

2 3
2

3

UNIVERSAL

Pg. 1/1

www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

Created by:  www.rrdisseny.cat

M O U N T I N G  I N S T R U C T I O N S

REF 3844N K I T B A N D E J A M E G A B OX  /  M E G A B OX  T R AY K I T

1 2


